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1. BmBFRLIEIRA4A: RTU-R1600')—X BRI -2 9 — K347
2. HBEDTELE: 5 5 ~\—X :RHB-E600B-1P (2{&) # & U'RHB-E600B-W (11&)
3. #IR[EET
(1) 28 AR
DB E E M (kg) EKEF) M=| 263 |kg
QB ES W (kN) (HEKEF) W=M x 9.80665/1000=| 258 [kN
QI T AR DHEIEDIE L (cm) L=| 474 |cm
@RI 5AROBEIFEDGIE : Lg(cm) Le=| 237 |cm
OHBDEDEE hg(cm) hg=| 100.3 |cm
(2) B ZER
OEBEE M (kg) Me=[ 352 |ke
QEMEEE W (kN) W;=M; X 9.80665/1000=| 345 |[kN
QBT A2ARDEERE Lr(cm) Le=| 600 |cm
@EBESE he(cm) he=| 220 |cm
4. MEFE
(ERETHREKEEE Ky Ky=| 04
(2)ERFHHASRERE Ky Ky=12xKy=| 02

NKERAAR(FA-aRATELRDBIEND
(B)REEFEE—AUF:AKN=-cm)

A= (1-K)*((Lg+ (LeL) /2) %W (Le/2)¥We) = 1447 |kN+-om

(4)EEB1EF—+2F:B(kN*cm)

B=K*((hg+hg)*W+ (he/2)*We) =[ 1414 |kN-cm

XKL= T, . A>B
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